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1 Introduction
In RAN2 LS R1-2205736, RAN2 has informed RAN1 that for repetition for CG-SDT, the repetition related parameter in TS 38.331 are reused from the existing ConfiguredGrantConfig and hence the signalling allows configuration related to repetition (i.e. repK, repK-RV (including repK-r17), pusch-RepTypeIndicator-r16 and frequencyHoppingPUSCH-RepTypeB-r16) within this IE. 
In this tdoc, the impact of the this decision in RAN1 is discussed.
2 Repetition related discussion
Discussion point of RAN1 perspective
For the issue whether to support the repetition in CG-SDT, as discussed before, it is questionable why CG-SDT should support repetition? It has already agree the CG-SDT will be selected based on a threshold, certainly a UE with certain good channel condition is able to use CG-SDT, rather than these in poor channel condition who needs repetition, who might use RA-SDT or even not qualified for SDT. 
Another concern is that, the configured repetitions (equal to the transmission occasions) will be through the validation check, or availability check. It will end up with different number of occasions from time to time, but the suggestion to consider these repetitions in one period as a bundle of transmission occasions that are mapped to the same SSB(s) will count each group with different of transmission occasions as the same level unit for SSB association, it is an unfair design principle.
To some discussion point that the repetition could be beneficial, it is quite questionable that even for a single UE, the repetition number in one association to SSB will be different. Without knowing which SSB UE is going to select when it initiates the CG-SDT, such benefits are totally random which we think it is useless.  
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Fig. 1 – example of uneven number of PO repetitions for SSB association
Observation 1: from RAN1 perspective, the repetition in CG-SDT is not motivated and no clear benefit could be identified. 

Impacts from RAN2
Since RAN2 decided to keep all the repetition related parameter even without directly indicating to RAN1 whether repetition is deemed to be supported or not, RAN1 needs to consider the impacts of using these parameters when they are configured.
The mostly impacted aspect is the SSB-PUSCH association, in which the validation of PUSCH was considered per PUSCH occasion level. Now in case PUSCH repetition is enabled, there could be two possibilities, one is that the multiple PUSCH repetitions are regarded as one PUSCH occasion, the other is that multiple PUSCH repetitions are regarded as separate PUSCH occasions? If they are regarded as one occasion, then if one of the repetitions is invalid, the whole repetitions will be dropped. Otherwise, even for single UE, the same valid repetition transmission cannot be ensured for different SSBs. If they are regarded as separated occasion, then each of the repetition is treated as independent PUSCH resource and do the SSB-PUSCH association accordingly. This implies the “repetition” configuration actually configures multiple PUSCH resource in one CG PUSCH period. 
From our perspective, given the fact the repetition term and its original intention. The former one is preferred. 
Proposal 1: if the repetition is configured, the PUSCH repetitions in one CG PUSCH configuration period are regarded as one PUSCH occasion. Such PUSCH occasion is invalid if any repetition within this occasion is invalid.

The corresponding CR could be found in our companion tdoc.
3 Conclusion
The proposals made in this contribution are summarized below: 
Observation 1: from RAN1 perspective, the repetition in CG-SDT is not motivated and no clear benefit could be identified. 
Proposal 1: if the repetition is configured, the PUSCH repetitions in one CG PUSCH configuration period are regarded as one PUSCH occasion. Such PUSCH occasion is invalid if any repetition within this occasion is invalid.
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